8317MR
2014+ GM 1500 AND 2015+ SUV'S W/ MAGNETIC RIDE SUSPENSION
TO BE USED WITH 2" OR 3" STRUT SPACERS
FRONT SENSOR ROD BRACKET SPACERS

HARDWARE:

8313MR-2 1/4" TALL SPACER

8313MR-3 1/2" TALL SPACER

M6-1.0 X 35 HEX CAP SCREW

NINININ

M6 FLAT WASHER

1) UNBOLT THE BRACKET WHICH ATTACHES THE FRONT SENSOR ROD TO THE UPPER CONTROL ARM.

2) FOR USE W/ 2" STRUT SPACERS, PLACE THE 1/4" TALL SPACER BETWEEN THE CONTROL ARM
AND THE BRACKET AND ATTACH USING THE PROVIDED M6 BOLT AND WASHER

FOR USE W/ 3" STRUT SPACERS, PLACE THE 1/2" TALL SPACER BETWEEN THE CONTROL ARM
AND THE BRACKET AND ATTACH USING THE PROVIDED M6 BOLT AND WASHER



	Sheet1

